Lecture 2

an

Tuesday, January 10, 2023 8:18 AM

 $\binom{3}{2}' = \frac{3}{2} \frac{1}{2} \frac{1}{3} \frac$ $(\mathbf{z}')' = 2\mathbf{x} \longrightarrow \frac{1}{2}(\mathbf{z}^2)' = \mathbf{x} \longrightarrow (\frac{1}{2}\mathbf{z}^2)' = \mathbf{x}$ (2) = 1There fore, $(\frac{1}{3}x^3 + \frac{1}{2}x^2 + x)' = x^2 + x + 1 = f(x)$ antiderivative of f

Note that antiderivatives are not unique. Any function of the form $\frac{x^2}{3} + \frac{x^2}{2} + x + C$, where C is a constant is an antiderivative. 3(r) Are there other antiderivatives that are not of the above form? $\dot{h}(x) = f(x) = g'(x)$ $\sum \int h(n) - g(n) = 0$ n + h(n) - g(n) = const \sim h(x) = g(x) + constEn (a) Find all antidervatives of $f(x) = x^{2} - bx$. Answer: $\frac{2}{5}x^{52} - \frac{2}{5}x^{32} + C$ (b) Find an antiderirative F(n) such that F(1)=2 $F(l) = \frac{2}{7} - \frac{2}{7} + C = 2 \longrightarrow C = \frac{34}{17}$ $\sim 1 F(n) = \frac{2}{7} x^{2} - \frac{2}{7} x^{2} + \frac{34}{17}$

$$\int x^{\alpha} dx = \frac{x^{\alpha+1}}{\alpha+1} + ((\alpha \neq -1))$$

$$\int \sin x dx = -\cos x + (\int \cos x dx = \sin x + C$$